mAEHKEE RS MBIITIEE

E1HKIEEKHF
=1=PA R1.5.28 R1820 | R11119 | R2218 | AIEmE% | &H/ME RK{E FHE
TUEZTHER mg/L 0.56 0.37 0.54 0.53 4 0.37 0.56 0.50
KIGE REME(—) | BEHE(—) | RBRE(-) | R 4
BRMSERER (VL EFM) {&/100mL 0 0 0 0 4 0 0 0
DUTRRRY D L f&/10L 0 0 0 0 4 0 0 0
CTNTT f&/10L 0 0 0 0 4 0 0 0
R e A | 1pg-TEQ/LIAT 0.021 1 0.021 0.021 0.021
FE2HKIGEKHF
=1=PA R1.5.28 R1.8.21 R1.11.19 | R22.18 | AIEE%% | &/IME RKE FHE
TUEZTHER mg/L 0.50 0.40 0.40 0.36 4 0.36 0.50 0.42
KIGE REME(—) | BEHE(—) | B | B 4
BRMSERER (VL EFM) {&/100mL 0 0 0 0 4 0 0 0
DUTRRRY D L {f&/10L 0 0 0 0 4 0 0 0
CTNTST {&/10L 0 0 0 0 4 0 0 0
R A | 1pg-TEQ/LUAT 0.016 1 0.016 0.016 0.016
EIHIKIGFEKFF
=1=PA R1.5.28 R1822 | R11119 | R2218 | AIEmE% | H/ME RAK{E FHE
TUEZTHER mg/L 0.53 0.64 0.52 0.50 4 0.50 0.64 0.55
KIE REME(—) | BEHE(—) | B | B 4
BRMSERER (VL EFM) {&/100mL 0 0 0 0 4 0 0 0
DUTRRRY D L f&/10L 0 0 0 0 4 0 0 0
CTNST f&/10L 0 0 0 0 4 0 0 0
R e A | 1pg-TEQ/LUAT 0.018 1 0.018 0.018 0.018
FE1HKEHO

=1=PA R1.8.20 R22.18 | AIEE%% | &/IME RAKE FHE
DUTRRRY D L {&/20L 0 0 2 0 0 0
CTINTT {&/20L 0 0 2 0 0 0
FE2HKigHO

b=1=PA R1.8.21 R22.18 | AIEE% | &/IME RAE FHE
DUTRRRY D L {&/20L 0 0 2 0 0 0
CTNTST {&/20L 0 0 2 0 0 0
EIHKIFHO

=1=PA R1.8.22 R22.18 | BIEE%% | &=/IME RAKE FHE
DUTRRRY D L {&/20L 0 0 2 0 0 0
CTINTST {&/20L 0 0 2 0 0 0
E15KIERIEKE
BEZ R1.8.20 R22.18 | RIEE%Y | B/ME RXIE FHfE
RREXEBEO—157 Rt (=) (=) 2
DUTRRRY D L {&/20L 0 0 2 0 0 0
CTNST {&/20L 0 0 2 0 0 0
R A | 1pg-TEQ/LUAT 0.021 1 0.021 0.021 0.021
FE2HKIERIEKE
BEZ R1.8.21 R22.18 | RIEE%Y | B/ME RXIE FHfE
RREXBEO—157 Rt (=) (=) 2
DUTRRRY D L {&/20L 0 0 2 0 0 0
CTINTT {&/20L 0 0 2 0 0 0
R A | 1pg-TEQ/LUAT 0.026 1 0.026 0.026 0.026
E3HIKIGERIEKE
BEZ R1.8.22 R22.18 | RIEE%Y | B/ME RXIE FHfE
RREXBEO—157 Rt (=) (=) 2
DUTRRRY D L {&/20L 0 0 2 0 0 0
CTNTT {&/20L 0 0 2 0 0 0
A X458 1pg-TEQ/LUAT 0.020 1 0.020 0.020 0.020




